Paperwork Reduction Act Submission

Please read the instruction before completing this form. For additional forms or assistance in completing this forms, contact your agency's Paperwork Reduction Officer. Send two copies of this form, the collection instrument to be reviewed, the Supporting Statement, and any additional documentation to: Office of Information and Regulatory Affairs, Office of Management and Budget, Docket Library, Room 10102, 725 Seventeenth St. NW, Washington, DC 20503.

1. Agency/Subagency Originating Request: U.S. Department of Housing and Urban Development Office of Single Family Program Development	2. OMB Control Number: a. 2502-0527 b. None
 3. Type of information collection: (check one) a. New Collection b. Revision of a currently approved collection c. Extension of a currently approved collection d. Reinstatement, without change, of previously approved collection for which approval has expired e. Reinstatement, with change, of previously approved collection for which approval has expired f. Existing collection in use without an OMB control number 	 4. Type of review requested: (check one) a. Regular b. Emergency - Approval requested by c. Delegated 5. Small entities: Will this information collection have a significant economic impact on a substantial number of small entities? Yes No 6. Requested expiration date: a. Three years from approval date b. Other (specify)
7 Title:	

Rehabilitation Mortgage Insurance Underwriting Program Section 203(K)

8. Agency form number(s): (if applicable) HUD-92700, HUD-92700-A, HUD-9746-A, HUD-92577

9. Keywords:

Housing, Mortgage Insurance, Mortgagor, Single Family Homes

10. Abstract:

This information collection covers application, qualification, and certification processes for participants in HUD-FHA's 203(K) Rehabilitation Mortgage Insurance Program.

 11. Affected public: (mark primary with "P" and all others that apply with "X") a. x Individuals or households b. P Business or other for-profit c. x Not-for-profit institutions e. Farms f. x Federal Government g. State, Local or Tribal Gov 	vernment	 12. Obligation to respond: (mark primary with "P" and all others that apply with "X") a. Voluntary b. P Required to obtain or retain benefils c. Mandatory 				
13. Annual reporting and recordkeeping hour burden:		14. Annual reporting and recordkeeping cost burden: (in thousands of dollars)				
· · · · · · · · · · · · · · · · · · ·	225	Do not include costs based on the hours in item 13.				
b. Total annual responses 144,4		a. Total annualized capital/startup costs				
Percentage of these responses collected electronically	5%	b. Total annual costs (O&M)				
c. Total annual hours requested 121,8		c. Total annualized cost requested				
d. Current OMB inventory 341,9		d. Current OMB inventory				
e. Difference (+,-) 220,	019	e. Difference				
f. Explanation of difference:		 f. Explanation of difference: 1. Program change: 				
1. Program change 2. Adjustment: 220,	019	2. Adjustment:				
	010	z. Aujustinent.				
15. Purpose of Information collection: (mark primary with "P" and all others the with "X")	nat apply	16. Frequency of recordkeeping or reporting: (check all that apply) a. Recordkeeping b. Third party disclosure				
a. P Application for benefits e. X Program planning or mana	agement	c. Reporting:				
b. X Program evaluation f. Research		1. On occasion 2. Weekly 3. Monthly				
c. General purpose statistics g. X Regulatory or compliance		4. Quarterly 5. Semi-annually 6. Annually				
d. Audit		7. Biennually 8. Other (describe)				
17. Statistical methods: Does this information collection employ statistical methods? Yes No	subm Nam	cy contact: (person who can best answer questions regarding the content of this ission) e: Theresa Oliver le : 202-402-3572:				

19. Certification for Paperwork Reduction Act Submissions

On behalf of the U.S. Department of Housing and Urban Development, I certify that the collection of information encompassed by this request complies with 5 CFR 1320.9.

Note: The text of 5 CFR 1320.9, and the related provisions of 5 CFR 1320/8(b)(3). appear at the end of the instructions. The certification is to be made with reference to those regulatory provisions as set forth in the instructions.

The following is a summary of the topics, regarding the proposed collections of information, that the certification covers:

- (a) It is necessary for the proper performance of agency functions;
- (b) It avoids unnecessary duplication;
- (c) It reduces burden on small entities;
- (d) It uses plain, coherent, and unambiguous terminology that is understandable to respondents;
- (e) Its implementation will be consistent and compatible with current reporting and recordkeeping practices;
- (f) It indicates the retention periods for recordkeeping requirements;
- (g) It informs respondents of the information called for under 5 CFR 1320.8(b)(3):
 - (i) Why the information is being collected;
 - (ii) Use of the information;
 - (iii) Burden estimate;
 - (iv) Nature of response (voluntary, required for a benefit, or mandatory);
 - (v) Nature and extent of confidentiality; and
 - (vi) Need to display currently valid OMB control number;
- (h) It was developed by an office that has planned and allocated resources for the efficient and effective management and use of the information to collected (see note in item 19 of the instructions);
- (i) It uses effective and efficient statistical survey methodology; and
- (j) It makes appropriate use of information technology.

If you are unable to certify compliance with any of these provisions, identify the item below and explain the reason in item 18 of the Supporting Statement.

Signature of Program Official:	Date:
X	
Mike Winiarski, Director, Organizational Policy, Planning and Analysis Division, HROA	
Signature of Senior Officer or Designee:	Date:
X	
Lillian Deitzer, Departmental Reports Management Officer	

Supporting Statement for Paperwork Reduction Act Submissions

A. Justification

- The National Housing Act (12 U.S.C. 1703) authorizes the Secretary of Housing and Urban Development to insure financial institutions against losses as a result of borrower defaults on single-family mortgages. Specifically, under Section 203(k) of the Act, the Secretary is authorized to insure mortgages that fund the rehabilitation of single-family homes.
- 2. This request for OMB review involves an extension for information collected under OMB approval 2502-0527 for lenders that originate and service Section 203(k) mortgages.

The information collection focuses on the loan origination process and is used for underwriting purposes and to document expenditures from repair escrow accounts. The 8,255 respondents are borrowers and lenders, including approximately 20 nonprofits, who annually apply for regular 203(k) loans as well as the Streamline(K) modification of the 203(k) program; approximately 855 FHA 203(k) consultants are projected to apply to be placed on the national roster for consultants. More consultants are projected to apply for roster placement on an on-going basis annually.

Below are descriptions of the requirements for the 203(k) program and other requirements of the Streamline (K) modification, separated into three categories, as follows:

Program Requirements unique to the regular 203(k):

- Architectural exhibits, such as Plot Plan, Existing Plan, Description of Materials, and Work Write-Up are generally, but not always, required (e.g., for a new roof), and an estimated number is provided here for computational purposes.
- 203(k) Borrower's Acknowledgement, HUD-92700-A, documents the borrower's understanding that HUD does not warrant the condition of the rehab property.
- The Draw Request Section 203(k), HUD-9746-A, includes the rehabilitation inspection report. The form documents material, equipment, and labor already purchased and installed. The lender uses this document as certification that work has been completed properly per program requirements.
- Contingency Release Letter approves or rejects borrower's request for release of the contingency reserve. No specific form required; sample attached.
- Plan Review Certification certifies that the plan reviewer has inspected the property and found the architectural exhibits and rehabilitations costs to be acceptable.
- Consultant Application Package is information submitted by individuals wishing to be placed on HUD's FHA 203(k) Consultant Roster. No specific form required; sample attached. The package contains the following:

A list or resume documenting:

- A minimum of three years experience as a remodeling contractor, general contractor, or home inspector.
- A state license as a state certified engineer or architect may be submitted in lieu of the documentation of the three years experience;
- Education;
- Licensing (general contractor, home inspector, etc.). In those states where a Home Inspector is required to be licensed, the Department requires the applicant to be licensed and to provide proof of that licensing;
- A narrative description of the current/prospective consultant's ability to perform home inspections, prepare architectural drawings, use proper methods of cost estimating and complete draw inspections; and,

- The applicant must also submit a certification verifying that the consultant has read and fully understands the requirements of HUD Handbook 4240.4, REV 2 (203(k) Handbook) and all related materials.
- Consultant Identity of Interest Certification certifies that the Consultant has no conflicts in the rehabilitation and inspection of the property. No specific form required; sample attached.
- Rehabilitation Checklist is completed by the 203(k) Consultant for the Work Write-up. No specific form is required, sample attached.

Program Requirements unique to the 203(K) Modification (Streamline(K)):

- Lender review of borrower's documentation of competency if loan is Self-help Rehabilitation loan.
- Contractor's cost estimate.
- Appraiser's review of planned rehabilitation and pre-purchase home inspection report.
- Lender's review of acceptability of cost estimate.
- Eligibility for an Energy Efficient Mortgage is determined by the lender.

Overall 203(k) Program Requirements (including the Streamline(K) modification)

- 203(k) Maximum Mortgage Worksheet, HUD-92700, involves an expanded information requirement for lenders that originate and service Section 203(k) mortgages.
- Rehabilitation (Self-Help) Loan Agreement defines the terms of the loan for the rehabilitation of property where the borrower is performing some or all of the rehabilitation. No specific form required; sample attached.
- Rehabilitation Loan Agreement defines the terms between the lender and borrower and establishes the conditions under which the lender will advance the loan proceeds. No specific form required; sample attached.
- Rehabilitation Loan Rider provides the lender with the authority to take the necessary steps to protect the rehabilitation improvements if the rehabilitation is not properly completed. No specific form required; sample attached.
- Final Release Notice is issued by the lender after reviewing case file to determine that all work has been satisfactorily completed. No specific form required; sample attached.
- Mortgagor's Letter of Completion provides certification by borrower that the rehabilitation has been completed in a workmanlike manner to their satisfaction and authorizes lender to distribute remaining funds. No specific form required; sample attached.
- Request for Change, HUD-92557, is used when the scope of work of the rehabilitation will change.
- Homeowner/Contractor Agreement is a contract for rehabilitation work. No specific form required; sample attached.
- Currently, there are approximately 20 nonprofit loans per year. Documentation to support Nonprofit Applications for 203(k) Participation includes the following:
 - complete articles of incorporation and by-laws of the entity;
 - corporate resolution delegating signature authority;
 - an outline of current and future housing objectives;
 - a marketing plan de scribing the nonprofit's methodology of renting the units or transferring properties to homeowners through credit qualifying;
 - assumptions or other means, if appropriate;
 - a detailed description of the last two years' experience as a housing provider;
 - proof of the organization's exemption from Federal income tax;
 - copies of the last two years' tax returns (Form IRS 990, Return of Organization Exempt from Income Tax, is a form available for public inspection and sometimes serves as the primary or sole source of information about a particular organization);
 - Year-end Financial (Nonprofits);
 - 90-day Year to Date Financials (Nonprofits); and

- Credit Reports (Nonprofits).
- Chain of Title Evidence provides evidence of prior ownership when a property was sold in the last year and that prior ownership must be reviewed for undisclosed identity of interest transactions.
- Borrower's Identity-of-Interest Certification certifies that the Borrower has no conflicts of interest in the purchase. No specific form required; sample attached.
- Quality Control Plan Maintenance is a routine function of each mortgagee's origination and/or servicing operations. All FHA-approved mortgagees, including Loan Correspondents, must implement and continuously have in place a Quality Control Plan for the origination and/or servicing of insured mortgages as a condition of receiving and maintaining FHA approval.
- Accounting of 203(k) rehab funding is record keeping for each loan. The information is reported at the closeout (see below).
- Automated Processing of 203(k) Closeout is a mortgagee's certification that they have reviewed and verified for accuracy the following documents without limitations: final release notice, mortgagor's letter of completion, title update/lien inspection reports, lender accounting of the 203(k) rehabilitation funds, change orders, payment ledgers, extensions for completion, and contingency release letters.
- 3. Because of wide variations in the size of Section 203(k) lenders, the number of loans originated, and the fact that the collection includes financial and other documentation from the borrower, improved information technology to reduce respondent burden has limited applicability. Information is collected on paper by the mortgagees and submitted to HUD electronically through the Computerized Homes Underwriting Management System (CHUMS), which accounts for the 5% electronic processing. The lender is not required to submit copies of the requisite forms, only to ensure that copies are placed in the case binder.
- 4. Data collected is unique to each Section 203(k) loan and therefore not duplicative.
- 5. There is an impact on small businesses or other small entities in that this limited repair augmentation to the overall program specifically excludes the involvement of 203(k) consultants who are required to develop a "Specification of Repairs/Work Write-Up" for a regular 203(k) loan. This modification to the overall program, will not cause a decrease in the use of 203(k) consultants for the regular 203(k) program. There is no other impact on small businesses or other small entities.
- 6. Information collected is a one-time "on occasion" type, and therefore no reduction in frequency is possible. The documentation requirements and strengthened internal controls are meant to help reduce HUD's exposure to insurance losses from loan defaults.
- 7. There are no special circumstances involved in this collection.
- 8. In accordance with 5 CFR 1320.8(d), this information collection soliciting public comments was announced in the *Federal Register* on November 21, 2008 (Volume 73, Number 226, Page 70667). No comments were received.

HUD consulted directly with leading participating lenders in regard to information requirements of the 203(k) programs. Lenders reported that the data collection process has been automated and managed with computer systems that accept data from the FHA appraiser and consultant electronically. This is consistent with the guidelines in 5 CFR 1320.

- 9. There are no gifts or other types payments made to respondents.
- 10. The Privacy Act of 1974 protects respondents who meet these information-reporting requirements. There are no other pledges of confidentiality.
- 11. This information collection does not contain any questions of a sensitive nature.

12. The loan volume on 203(k) mortgages, including the 203(K) Streamline modification, to approximate 8,225 and HUD anticipates continued volume growth in future years. Of the 8,225 loans, approximately 20 are nonprofit organizations, which is the average for the past three fiscal years. HUD currently has 855 203(k) consultants who are approved to perform inspections services under the 203(k) program on an annual basis. This is a revolving program with consultants being removed from and/or added to the approved list or voluntarily withdrawing from the list, therefore, additional consultants will apply for and be approved to perform inspection services under the 203(k) program on an annual basis. The reporting burden on respondents for the collections is calculated currently at 121,891 hours.

Information Collected	Number of Respondents	Frequency of Response	Total Annual Responses	Hours per Response	Total Hours	Cost per Hour	Total Cost
Regular 203(k) Program Requirements*							
Architectural Exhibits	3,500	1	3,500	4	14,000	32.00	448,000
203(k) Borrower's Acknowledgment HUD-92700-A	5,225	1	5,225	.10	523	32.00	16,736
Application for HUD Section 203(k) Rehabilitation Program Consultant	855****	1	855****	4	3,420	32.00	109,440
Draw Request Section 203(k) HUD-9746-A	5,225	1	5,225	1	5,225	32.00	167,200
Consultant's Identity-of-Interest Certification	5,225	1	5,225	.10	523	32.00	16,736
Accounting of 203(k) Rehab Funding	5,225	1	5,225	.5	2,613	32.00	83,616
Contingency Release Letter	5,225	1	5,225	.1	523	32.00	16,736
Plan Reviewer Certification	5,225	1	5,225	1	5,225	32.00	167,200
Rehabilitation Checklist	5,225	1	5,225	4	20,900	32.00	668,800
Subtotal;	5,225		40,930		52,952		1,694,464
203 Streamline(K) Modification Requirements**							
Lender's review of borrower's documentation of competency if Self Help Rehab	500	1	500	.1	50	32.00	1,600
Contractor's Cost Estimate	3,000	1	3,000	2	6,000	32.00	192,000
Appraiser's review of planned rehabilitation and pre-purchase home inspection report	3,000	1	3,000	1	3,000	32.00	96,000
Lender's review of acceptability of cost estimate	3,000	1	3,000	.2	600	32.00	19,200
Energy Efficient Mortgage Calculation	500	1	500	.2	100	32.00	3,200
Subtotal	3,000		10,000		9,750		312,000
Overall 203(k) Program Requirements***							
203(k) Maximum Mortgage Worksheet HUD-92700	8,225	1	8,225	.25	2,056	32.00	65,792
Rehabilitation (Self Help) Loan Agreement	950	1	950	.1	95	32.00	3,040
Rehabilitation Loan Agreement	8,255	1	8,225	.2	1,645	32.00	52,640
Rehabilitation Loan Rider	8,255	1	8,225	.2	1,645	32.00	52,640
Final Release Notice	8,225	1	8,225	.1	823	32.00	26,336

Information Collected	Number of Respondents	Frequency of Response	Total Annual Responses	Hours per Response	Total Hours	Cost per Hour	Total Cost
Mortgagor's Letter of Completion	8,225	1	8,225	.1	823	32.00	26,336
Borrower/Contractor Agreement	8,225	1	8,225	.1	823	32.00	26,336
Borrower's Identity-of-Interest Certification	8,225	1	8,225	.1	823	32.00	26,336
Documentation to Support Nonprofit Applications for 203(k) Participation	20	1	20	4	80	32.00	2,560
Form IRS 990 (Nonprofits)		1	20	.25	5	32.00	160
 Year-end Financial (Non- profits) 		1	20	.25	5	32.00	160
 90 day YTD Financial (Non-profits) 		1	20	.25	5	32.00	160
Credit Reports (Non-profits)		1	20	.5	10	32.00	320
HUD-92577 Request for Acceptance of Changes in Approved Drawings and Specifications	2,000	1	2,000	.5	1,000	32.00	32,000
Chain of Title Evidence	8,225	1	8,225	.50	4,113	32.00	131,616
Lender's Quality Control Plan	8,225	1	8,225	5	41,125	32.00	1,316,000
Accounting of 203(k) Rehab Funding	8,225	1	8,225	.2	1,645	32.00	52,640
Automated Processing of 203(k) Closeouts	8,225	1	8,225	.3	2,468	32.00	78,976
Subtotal	8,225		93,525		59,189		1,894,056
Totals	8,225		144,455		121,891		3,900,512

Costs are assumed to be approximately \$32 per hour, including salaries, overhead, staff support, record keeping, etc.

* unique to regular 203(k) program

**unique to the Streamline(K) modification

*** required under both the regular 203(k) program and the Streamline(K) Modification

**** all the approximately 825 203(k) consultants who are currently approved will have to submit (one time) applications for a new national roster of consultants, thereafter 30 consultants are projected to submit applications on an annual basis

- 13. There are no additional costs to respondents.
- 14. The annualized cost to the Federal government is estimated at 10% of the total burden hours or 34,191 hours. The Federal burden includes compliance reviews related to the loan originations. The annualized cost to the Federal government also assumes a \$32 per hour estimate, based on the salary for a GS-12, Step 1, and is calculated at \$1,094,122.
- 15. This is an extension of a currently approved collection. The hourly burden has been adjusted because of incorrect calculations with the previous submission. The program is continually being reviewed to determine any impact from the current housing crisis. Also, this is a revolving program with consultants being removed from and/or added to the approved list or voluntarily withdrawing from the list, therefore additional consultants are projected to apply for and be approved to perform inspection services under the 203(k) program on an annual basis.

- 16. This information collection does not include results that will be published.
- 17. HUD is not seeking approval to avoid displaying the expiration date for the OMB approval.
- 18. There are no exceptions to the certification statement identified in item 19 of the OMB 83-I.

PART B. Collections of Information Employing Statistical Methods

1. The collection of information does not employ statistical methods.